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Lesson 7-1: Introduction to Polynomials “I can classify and simplify polynomial expressions.”

Warm Up: Simplify each expression by combining like terms:
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Getting to know Polynomials £ XPRESS |ONS
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_& SANAL Trinomial: the sum of 3 mongnr;;l?

,Y G“/Blnomlal the sum of monomials.
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m Classifying Polynomials: All polynomials are classified by _( ﬁe gfe € and _NUMDE Y of terms.

Degree of a Polynomial: The degree of a polynomial is its l ) l. EZZ 1€ 51 @Xp oNé f)'t

Expression Classify the Polynomial Degree
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Standard Form of Polynomials
Terms should be written in order from highest to lowest deg €€ The constant should be LF)ST

Leading Coefficient: the coefficient of the (2‘ egr € € term in standard form. ( k in the example)
Standard Form Leading Coefficient
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SIMPLIFY ING

Adding & Subtracting Polynomials: 1)

Example 1: (18x — 2x? + 15)=(3x? — 10 — 8x)
18% =2x" 115 + 3%*.10-¥x

Quadratic
Ldequee 2)

Trinomial

Di 5‘\‘\;\ buit »C L

)
Example 2: (6x + 7x)-,(1:0x +\”3x2+ 2)
X +Tx =jox =3x*-2

Quadratic Trinomial
(degree 2)

Part 1: Directions: Classify the following polynomials by degree and number of terms.

DR inear Binomial|? & A dratic Trinomial
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2¥% Cubic  Binomial | * Constant monomial

5) 26033 + 5x2 +x - 7

ouartic. PolNnomal

6) 10x

Part 2: Directions: Find the sum or diffe
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7)0(x%2 - 4x + 3) +)(3x2-3x-5)
XILHRt 31 367305
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st o rd form.
8) (8x2-12x+4)=3x2+5x-1)

8 x5-12x+4 = 3% Oy (|
\,_% o
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9) (2x-3+7x?)= (3 - 9x? - 2x)

10) (7x?+ 3x) =(5x2+4)

+3) + (4x2 -5

i m s

12)Find the sum of 2x? - 6x - 2 and x? + 4x.

13) Subtract -a? - 5ab + 3b? from 3a? - 2ab + 3b2.
(3a*-2ab+3%) - (-a*-5ab +3b)

Scrambled Answers:
- e quadratic Tri ial
Tttt 16x* +4x—6
4a? + 3ab ~Cubicbinemial
4x* —Tx -2 -QuarticRolynemialb
3x2 —2x-2 5x2 —17x+5

Linearhinemial 2x2+3x—4







